R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, TX-4093

STEVES AND SONS

203 Humble Ave.
n San Antonio, TX 78225

STEVES

Glazed Fiberglass Double Door

w/ or w/out Sidelites
INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Sidelite panel details

Horizontal cross section

Vertical cross sections

Vertical cross sections

Frame anchoring

Glazing details

Astragal details

Bill of materials and components

ol|o|o|N|o o fw|N|—

15.5" MAX.

98" MAX. OVERALL FRAME HEIGHT
- INSWING -

74" MAX. OVERALL
FRAME WIDTH

——

-

=——106.5" MAX. OVERALL FRAME WIDTH

FRAME WIDTH

" 74" MAX.
I FRAME WIDTH

|

98" MAX. OVERALL FRAME HEIGHT
- INSWING -

-

)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

w

o

52

(95
n k|
Zo a -
e1S) =
LS, =i
o 25
33 |5 =©
) g%*’
(%]

& |4 Yo
S
I R
o T P S
3) an
9 ol X
(] |_E:Lu
2 g &
o & ‘

[}
IS
3
(=1
SIE|2
Slc
0|9|2
n:%o
NS
Oog (7]
a(°lE| |z
o2 |Io
©|= o
o
N&_g ]
ol2le| |*
S
L}E>'-o.'
<|O| 3>
glals
Sle|s
g 's}
L
RERE
NG
—|lo
N P

oAE: 5/19/10

XX

74.0" x 98.0" 21.0" x 79.87"

+40.0

-45.0

SCALE:  N.T.S.

DWG. BY: JK

OXXO

106.5" x 98.0" 21.0" x 79.87"

+40.0

-45.0

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHeer _ 1 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 2-2

7

@'1

35.75" MAX.
PANEL WIDTH

D.L.O. WIDTH

21" MAX.

95.25" MAX. PANEL HEIGHT
79.87" MAX. D.L.O. HEIGHT

‘ DOOR PANEL
Fiberglass

RSL DOOR LITE FRAME SCREWS (ltem #3A):

EXTERIOR

®

A\

il

240"

31.52"

_ e, [

—— —_ —_ °

————

HEAD/SILL (4 total), 3.25" from corners & 7.25" max. o.c.
JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c.

ODL LITE FRAME SCREWS (ltem #3):

HEAD/SILL (4 total), 3.25" from corners & 6" max. o.c.
JAMBS: (8 total), 6.5" from corners & 10" max. o.cC.

OOR PANEL

Fiberglass

SHOWN w/o LITE INSERT

FOR CLARITY

(4243

— 120" |—

46

——

1.20"

[=—1.60" —|

HINGE AND LATCH STILE

1Ll

24"

3.90" -

Wood

'<— 1.60" *—‘

y 7]

/4

//
—

\/——/—

LITE FRAME REINFORCMENT

Wood

’—— 1.60" >|
%

| — ]

‘ TOP RAIL
Wood

il

——'l 1.20"

0.70"

‘ LOCK BLOCK
Wood

~—1.60" —

— |e—— 48"

B4

. BOTTOM RAIL
Composite / LVL

INTERIOR

%
* ?a

3
g2 &21

AN
SCA TR AN,

~OC
5

VN
OF T
(%) v".. %!K ..'°..

W e 32 B
g ¥
N

EXTERIOR

(108

ALV \\\\ | SN
<\,

1 7ee

7“2\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

LFS
JK
BY

REMOVE OUTSWING CONFIGURATION

5/28/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

2
1

NO., DATE

REVISIONS

oate: 5/19/10

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHEer _2 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON|] SLNVLINSNOJ aNIaIinNng ‘m'd 0oL0z @

<CERNd G P R Tz E—
d 40 Qivos Svxal 31vd [ON] o o
2 oS o o ST¥13a TNV 3L3AIS S| —see swe Al s ez 1| 2k (2] 2 9|
S6SEE 14 OSLIDA OEZ X08 ‘0'd \S,. ‘XTBN3SSY_¥0_14vd NOILYIN9IINOD_ONIMSLNO IAOWIY o= 7.8
"ONI ‘SINVLINSNOO ONITINg \&. S41| 3000 0¥i/081 8L0z 0L 31vadn| 0z/82/5| ¢ || = g 3_

¥00a SSY19¥38l4 ol (&5l X

£ZLHOL# "3'd Svxal SNOS AdNV S3A3LS Rl = IO I &
‘I'd PIWYOS 4 uopuik] :Ag pespdeuad sjuswnooq 119NA0¥d M m W W m W

£Z1¥0

- cosessese
\”..:......... 3
% 1QIWHOS 3 NOGNALS

) eesencsne eevsoesne

o s i ¥ 5
% 2 R
N\NNK. Qa«..o % .o.&”.h\\ll |
by R b
--

%un:o:o‘ Q{ ..l\\l\
ﬁ#«dwmzzezae

o)
® E \Q :
SR8 2
: ® S
2 B
: e
@

—] 0Tl =

SIDELITE TOP RAIL

=—1.60" —|

3 E
o
2 S 2
L 11 S
a
N ..m.o |'r_ [ m
(@) 5
m :QR O @
e
(=) 2
s .
m ~Sel—- o
o v = o | =]
e <g ] —_ =|o
m =Z O » Sl
/. = = ~— 09" ——
/4 R I
(@]
b=
)

=l B . ) .O ~ I

fl_—=~ i
= X 1 |

p
? 1IHOIFH 'O T'A XYW .86/ IL

LHOEH TANVd XYW .ST°56

D
@ SIDELITE PANEL
Fiberglass

ODL LITE FRAME SCREWS (ltem #3):

from corners
JAMBS: (8 total), 6.5" from corners & 10" max. o.c.

RSL SIDELITE FRAME SCREWS (ltem #3A):

o

14.0" MAX.
7" MAX.
D.L.O. WIDTH

PANEL WIDTH

HEAD/SILL (2 total), 2" from corners
JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c.

HEAD/SILL (2 fotal),

2-€ 'Bmpre6-2601-X L\sbuimelq - D\siooq sse|biaqi4 paze|s gzi ¥a\sse|biaqi4-si0oq pabuiH\su| jo 1daqg sexa] - g\lusuew.ad - SUOS pue saAalS\sIualD\y



"ON| SLNVLINSNOJ aNIaing ‘m'd oLoz @

ZS8LL—d4 # NOLLVMLSIOZN 40 3LVOI4LLYID . SNOISIATY
SY3IINIONT TYNOISS3H0d8d 40 Qy¥vog Svx3l A 31vd [ON]o o
. R du SNOILO3S mmwmo TVINOZIYOH S 3Bubyy BWoN J9npold/InUbN| 51/91 /7| | S I % o H_
S6SEE “14 OSMIDA O£Z X08 O'd \ww@. ‘ATEW3SSY_¥0_13vd NOILYAN9IINOD_ONIMSINO 3IAONIY o= .98
*ONI ‘SINVLINSNOD 9NIaling S41| 3000 20di/08l 810z 0L 31vadn| 0z/8z/5| Z | = g | 4_

4000 SSY1943414 0 55 le &

SZLPOL# ‘3'd Svxal SNOS (aNV S3A3IS MEIMME G
‘3'd PIWYDS 4 uopui] :Ag pedpdeuad sjuswnoo(g 110Na0Yd .UM m W z W M

A\

o> i

/

23

Ak

DRYW

51

EXT. SHEATHING

EXTERIOR
INTERIOR

©

m HORIZONTAL CROSS SECTION

o ﬂh@§>

19
\

A\

CE

A\

6 more screws equally spaced between.
(8 screws total per jamb.)

NOTE:
1. Sidelite ass'y fastener; 6" from each end and

m HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

®

DRYWAk

7“3\ HORIZONTAL CROSS SECTION

SEE
NOTE 1

£ 0

0.15
C'SINK
(TYP.)

/4

EXTERIOR

!
INTERIOR

\

SEE
NOTE 1

@O

18
m HORIZONTAL CROSS SECTION

|
|
7

<

A\

v

2-¥ 'BMp e6-2601-X L\sBuimelq - D\siooq sse|biaql4 paze|s g1 ¥a\sse|biaqi4-si00q pabulH\su| 0 1daq sexa] - g\l1usueWIdd - SUOS pue SaAIS\SIUaID\:Y



“ON| SLNVLINSNOJ 9NIg1ing ‘'m*'s o102z (@)

TS E Mo 4o ek 6 — SIva ToN
N 0ISs34 O Qy¥vog SwX3alL o o
L6165 650 r1a ~on ouous SNOILO3FS SS0HD TVOILYIA S 36UBUL BWBN 39Mpold,/ oW | G1/a1 /7 | 1 & v X % e H_
S6SEE 14 OOUIDA OCZ XO8 ‘0°d \§ "AXJBN3SSY ¥0 1yvd NOILYSNIIINOD ONIMSLINO IAOWIY ) QS
*ONI ‘SINVLINSNOD ONIaling K. S47| 3000 2¥1/081 8102 OL 3Lvadn 0z/8z/s | z ﬂ = g | 54

¥00d SSY19y34ld Wl 15 E|e &

£ZLHOL# “3'd Svxal SNOS 0NV S3AILS w2 el x| b
‘I'd IPIWYDS 4 uopui :Ag pespdeud sjuswnooq 110NAa0Yyd S8 W 5 W 5

oz
o
o
| =
> O
= O
ko]
So
3| 8
O£
o
O3
- | <C
m S
S
oc
v W 2
O (2]
v
_._TL N (W
Z
Q)]
=z
=
<C
Ll
T
w
5 ("dAL)
w —~— JNIS.O
/ S0
Y}
= Z
=~ =
O  Olo O O
[a% Wi & [a%4 L
E ” M E : .:::::::::.\:.u “ mnu
> 2 > =
[ al g @ S
& &3
SE -
328 <3
N Uloa Yo
N = S0 =|c
R &3
— - = Wl & a w5
678 e >|E£0 >|£
/ \ AU
- LD o0
oz o
O 2 :
: ® g S
b L L
> = i=
o < Z

2-S 'Bmpe6-2601-X1\sbuimel - D\s100q sse|biaqiy paze|D gz Ha\sse|biaqi4-si00q pabuiH\su| o 1daQ sexa] - g\IUBUBULIAH - SUOS pUE S3A3IS\SIUSIPD\:Y



"ON| SINVLINSNOJO aNIaing ‘m'd oLoz @

ZS8LL—d # NOLLVMISIORN 40 3LVOI4ILNID SNOISIAGS
SYIINIONI TYNOISS340¥8d 40 Quvog Svx3L A4 31va [ON o
SNOILO3S of .
S 4 mwomo il P 20upyg SwDN jonpoldy ynuol] gi78L 2] 1 1| Uil il H_
S6SES 14 OOWIPA 0£Z Xog ‘O'd \Su\g. ‘ATBW3SSY dO Livd NOLLYSNIIINOD ONIMSLINO IAOWIY ) i I i AR
*ONI ‘SINVLINSNOO ONIaTIing S471| 3000 2difo8l 810z 0L 31vadn| 0z/82/S| Z | = g | 6_
¥00a SSY1943414 Wl 5|5l &
€ZL¥OL# *3'd SVXaL SNOS (ONV S3AFILS 1M G
‘3'd ‘PIWYDS °4 uopuAil :Ag pedlpdeuad sjuswnooq 110Naoyd M m W m w %
S
=0
ki o}
c £
Go
ol
% ™
<3
m —-——
£3
2 o
= SET
O 0g5¢c
Z wn .20

1.

EXTERIOR

m VERTICAL CROSS SECTION

w Inswing configuration

INTERIOR

—
‘/ EXT. SHEATHING

("dAL)
IJ JINIS.O
e S10

EXTERIOR

7“1\ VERTICAL CROSS SECTION

N

:

/4

SEE

NOTE 1
INTERIOR

b
DRYWALL
X
. %
@—

2-9 'bMp e6-2601-X 1\sbuimelq - D\siooq sse|Biaqi4 paze|s 21 Ya\sse|biaqi4-siooq pabuiH\su| jo 1daq sexa] - g\IUsUBULId - SUOS pue SaABIS\SIUaID\'Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 7-2

2X FRAMING TO BE DESIGNED BY THE
ENGINEER OR ARCHITECT OF RECORD

2X BUCK
\

) £ (TYP) (TYP.)
3"(TYP.) 4" (TYP.)
3P [ |
l l lr\-llkl 1
SEE DETAIL 1 _ t:_
_ |l *E
HEAD & JAMBS
(TYP.)
N FRAME
> -~
-
_ 155
hie
SILL (TYP.)
- WOOD -
CONCRETE [SEE DETAIL 2
1 140 1 1l
FRAME ANCHORING
(XX)

CONCRETE ANCHOR NOTES:

HINGE JAMB

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adijusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

| MIN. CLEARANCE

FIITy

RT3

TAPCON® [ 1/4" 1-3/4" 1-1J2 4"
ELCO §i ] w "
ULTRACON®| 174 1-3/4 1 4

) 4" (TYP.) ——| ¥ TR
3" (TYP) &R — (VP
£(MP)— (4 ;
TR D |
-~ I \' | j
SEE DETAIL 1 -
© g
— =l HEAD & JAMBS — = %
(TYP.) =
- — MULLION [~ — J
(TYP.) —
— — — in (.) B) ——
SILL (TYP.) =G 1
[SEE DETAIL 2
L1 UL LT
FRAME ANCHORING ASTRAGAL
(OXXO)

FLOOR SUBSTRATE MATERIAL

CONCRETE (MIN. 3000 PSI)
WOOD (S.G. >= 0.42)(TYP)

8
Ae

#

HINGE DETAIL

LATCH & DEADBOLT DETAIL

w/ Standard Strike

!

L God .

DETAIL 1
Astragal Strike Plate

\

g

[o,)]
CONCRETE
WOOD

DETAIL 2
Astragal Strike Plate
Inswing

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

LFS
K
Y

REMOVE OUTSWING CONFIGURATION

REVISIONS

5/28/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

NOJ DATE

2
1

oate: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHeer 7 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ aNIaling ‘m'sd oLoz @

ZS8LL—4 # NOLVMLSIOSN 40 3LVOI4ILNIO 3 SNOISIATY —
SHIINIONIT TVNOISS3H08d 40 Qu¥vOod SvXaL o| . o
L616°659°CLE 'ON euoud SVL3@ ONIZV1O Al abuby)y swbpN yozbo,i\.m::oE SL/91/L | L ﬂ ) M 5 % .l_
: - [ 4 ol
G6SEE 14 OSUIDA 0SZ Xo8 ‘O'd \SV X18WN3SSY ¥0 Ldvd NOILVINOIINOD ONIMSINO 3IAOWIY o= L Q
*ONI ‘SINVLINSNOO ONITING \K. S471| 3000 0¥I/08l 810z 0L 31vadn| 0z/8z/5| 2 | ) 2 8_
¥00a SSv19438l4 Ol o1& Ele &
SZLYOL# '3'd Svxal SNOS (ONV S3AFLS i G|« w e
‘3'd IPIWYDS 4 uopuAiT :Ag petpdeld sjuswnoog 1109N00¥d =3 = z |z &
\,,WN
¢
%%
Lo ¢,
..f...ﬂL
<
................. o
.. 3 ¥\\l~\
ixg
&f

3
oz [a]
T 5 &
> < o
w v
o >
e w v
= v, mw x =2
= <E 7 < =rgy
) /S
= Oz =0
O &S <| £
= = el
N ql*-
- _ —H < ..Num
« 5 MW
o |
p o2
w ®
Y- : 41 9
0 Y oz oc
oz oz
i o
| z
3
o [a]
a W
= Q i
e < a
o o >
= M w Ll
W <E7 = WG
v WS
(%0} (%]
S S o
o =0 Mm
z O
N A =
— [/ alo
(U1
* - ke
» N5
—1F Sz
» (Ulle]
R .\—\ R
@) @) 2
~ — o [a]
[a’4 [a%4 T w Ll
L L L O &
5 = Em = I
. w me o WIM
= — < o J
= <E =0
2 22 =
N < o
O =0 Mm
Q| T o=
— [/ S5
SNIR
[ 35
q{ -2 o2
C r

DR
|
o

EXTERIOR
INTERIOR

2-8 'Bmpre6-2607-X L\sbuimelq - D\siooq sse|biaqi4 paze|9 gzi ¥A\sse|biaqi4-siooq pabulH\su| jo 1daq sexa] - g\lusuewdd - SUOS pue saAd}S\sIualD\:y



"ON| SANVLINSNOJ 9aNIgIing "M"'d oLoe @

SNOISIATY
2S8LL—d # NOLLVMISIOIY 40 ILVOI4ILYIO
S¥IANIONI ﬁ<zo_wwu.,_omn_ 40 Quvog Svxal A8 J1vd [ON|©o o
S o ot SV13A YOVHLISY P 8B6ubyy swoN 3onpoid/INubW| 51 /91/7 | L |N| v |X i e >
GuoEE =11 COBE D5% K48 O \§ ‘ATBW3SSY_¥0_Lavd NOLLVINIIINOD_ONIMSINO 3IAOWIY 215 1. 2|8
*ONI ‘SINVLINSNOD SNIATINg g. S| 3000 2di/2al 810z 0L 31vadn| oz/8z/s| Z I\ g | 9_
¥000 SSY19438l4 8l |E]|zle =
nNr.vOr* ‘3'd SvX3l mzom QZ< WM\/MHW _nl._ M I o m m
‘3'd ‘PlWYDS ‘4 uopuk :Ag peJpdeud sjuswnooq :19Na0Yd HEIEEIE z
2
%%,
27 : e,
.m..........ﬂ#.m..uw 4 ZO@.Z.\WM.W
mnw .............. m\”m
XS % Y
8. VL QY . =
.J..., ..\._::w :y... W()Uﬂ(
._.,..,.p..%b.‘.mum.v.r.r).)? &
i o
WOLLOg i 72
n <
Q]
» | g
W—. o’
3 =
3 <
- o
— 99T
o
[oe)
N a
N
wn
| ;
3
w —
M sl
[Ze} <
5 2 29
- u y M b
| = 3 S o= [= S5 >
&2 T < @
Q S < =
—]
_ =z o Q i 7
a [ — 7]
oz oz = A <
! 3 | 2 &)= o 2
! = o) Z|Z <> - R
| o £ Z|0 o | >
i < | & e ol =
g - &z Al & 5
< = 8 <
= in =
= o ® 17 )
_.m.o I'_ —‘I e W
0 g Q 5
b4 i o -
: = <
W A L
—— —
i = L
2 3
— T
- w
o)
59
w o —
Z & 25
o * O
wy >— \.IW
50 g
m o
& A|n_
- g
2 QO
= <
& =
[+
i) w S
: S
o) <C
O
T = L
a¥ & i
oo 5= <
3O o W O
~<a A S -
#= O mw a- D
g% &2 T
L
Ll
o= e
=
A | | L
= N T~ = =

2-6 'Bmpe6-2601-XL\sBuimelq - D\s100q sse|biaqi4 paze|o gz Ha\sse|b1agi4-si0oq pabulH\su| 0 1daq sexa] - g\IUSUBWLIA] - SUOS PUE S3A3IS\SIUBID\'Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 10-2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
B 2X FRAMING SG >= 0.42 WOOD
C 1/4"' MAX. SHIM SPACE -
G 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 1X OR 2X REINFORCEMENT SG >= 0.55 STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE
2 MALE LITE FRAME - ODL POLYPROPYLENE
2A MALE LITE FRAME - RSL POLYPROPYLENE
3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
3A #8 X 1-1/2" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
4 ALUMINUM SPACER SYSTEM ALUMINUM
5 HOT MELT SEALANT / SILICONE SILICONE
7 WEATHER STRIP FOAM
12 #10 X 2-1/4" PFH SCREW STEEL
16 SIDE JAMB SG > =0.42 WOOD
17 HEAD JAMB SG > = 0.42 WOOD
18 4" X 4" HINGE MIN0.1" THICK STEEL
19 #10 X 3/4" PFH W§ STEEL
20 [ #10X2-1/2" PFH SCREW STEEL
21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL
22 KWIKSET DEADBOLT -SERIES 690 CP STEEL
23 LATCH STRIKEPLATE STEEL
24 DEADBOLT STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
29 SIDELITE SPACER VINYL
30 DOOR BOTTOM SWEEP PVC
31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.
34 SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 WOOD LOCK BLOCK WOOoD
42 HINGE STILE - SG >=0.42 WOOD
43 LATCH STILE - SG >=0.42 WOOD
44 TOP RAILSG >=0.42 WOOD
45 BOTTOM RAIL COMP./LVL
46 LITE FRAME REINFORCEMENT SG > = 0.42 WOOD
47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
51 ALUMINUM ASTRAGAL ALUM
52 SIDELITE STILE - SG>= 0.42 WOOD
53 SIDELITE BOTTOM RAIL COMP./LVL
54 SIDELITE TOP RAIL WOOD
57 SIDELITE FEMALE LITE FRAME - RSL PVC
58 SIDELITE MALE LITE FRAME - RSL PVC
59 #8 X 2" PFH WOOD SCREW STEEL
60 ASTRAGAL STRIKE PLATE STEEL

4.56"
— LJ U——_ 1 m) ‘
B

m HEAD & SIDE
Jamb

5.62"

31 INSWING THRESHOLD

JE——

U S 2 S
K s H o~
11\(11 *i4

oA
> R
WA

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

1.13"

=207 —'

@ SIDELITE SPACER

f 4.56"

[ 597"

‘ SIDELITE THRESHOLD

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

& COMPONENTS

FS
JK
BY

REMOVE OUTSWING CONFIGURATION

5/28,/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

2
1

NO., DATE

REVISIONS

oATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



